i ' LOGIC

INSTALLATION MANUAL

FIXED WALL MOUNT
LGWM 3790F

T w6 5 @ ey

A
| 4
= @
4. Place the TV/ display 5. Adjust the angle and :
on the wall mount lock the mount @ g
’ |
I
z : ]
: X U
o o Iﬂ
[« SN & S —_ o o O — dp A
Lo > o |gl= o o o o fo— — d» dp
[

[c—=c—= am

MODEL m VESA DISPLAY SIZE MAXLOAD

LGWM-3790F FIXED 150X150to 37" to 90” 165 Ibs (75Kg)
WALL MOUNT 800X400

==

View after installation

www.logicav.in www.logicav.in




Checklist 2. Installation
M-A ] Instructions for fixing wall mount:

Wall Mount x 1 [
Drilling the wall for the wall mount should be executed

- QY6 QT 6 QTY 10
| : 2 B
l : g g IYRES\MNOLN I 1y o craftsperson only. Exercise care to prevent
E—( S————— | = — =3
- g E @) any scar or damage to the wall.
Wear safety glasses while operating power equipment.

)
i — Concrete Fischer
J ! Screw crpansion lug ) {_Wesher 10 CAUTION : . crating p
Failure to comply may result in eye injury.

Interface bracket x 2

M-B M-C M-D M-E M-F M-G
QrY 4 QTY 4 QTY 4 QrY 4 Qry 4 QrY 4
Washer x 4 M6 X 20 M6 X 50 M8 X 25 M4 X 20 M5 X 40

Prior to installation, ensure that you have received
all the parts as per the checklist

1. Place the wall unit on the wall and make marks on the wall.
Note: While marking make sure the mount is placed in a straight line using the surface
leveler Drill the wall and insert the concrete anchor in the holes & place the mount on

the wall and insert concrete screws. (Refer Al, A2, A3, B1 in the checklist)

IMPORTANT:

1. Product Dimension

i
E o ZS_mm ;
N 3 '
8| f Y = 1
| b3 3
l | =
\ 2. Place the interface bracket on the 3 Fora curved b"_"Ck or obstruction
' TV/ display and insert the washer in display or TV kindly follow
Depth from wall to display and screw (Refer the checklist for the above process
the suitable screw and washer)
www.logicav.in DimenSion in mm www.logicav.in




